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Wurzelgleichung

VAx+17 +24x+1 =13 | 2

Ax+17 +4x+4 +4/4x +17/x +1 =169

8x+ 21+ 4,/ (dx +17)(x +1) =169 | -(8x +21)
4J(4x +17)(x +1) = 148 - 8x |1 4

J@x +17)(x +1) =37 - 2x |

(Ax+17)(x+1)=1369 —148x + 4x?

4x7+ 21x +17 = 1369 — 148x + 4x?
169x = 1352 1169

x=8

V2x =4 —2x+29 =/2x =16 =4/2x +5
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Gleichung quadrieren
zusammenfassen
umformen
vereinfachen

nochmaliges quadrieren
ausmultiplizieren

zusammenfassen
dividieren

(2x =4) = 23/2x = 432x +29 + (2x +29) = 2x = 16) = v/2x = 16~4/2x + 5 + (2x + 5)
4x +25-2/(2x = 4)(2x + 29) + (2x +29) = (2x = 16) = 2,/(2x = 16)(2x + 5) + 2x +5

36 - 24/(2x - 4)(2x +29) = =2,/(2x - 16)(2x + 5)

18— \/(2x — 4)(2x +29) = —/(2x —16)(2x +5)

324 - 36,/(2x — 4)(2x + 29) + (2x - 4)(2x +29) = (2x - 16)(2x + 5)

—364/(2x - 4)(2x +29) = =72x - 288
JQ2x-4)(2x+29) =2x+8

(2x - 4)(2x +29) = 4x?+ 32x + 64
4x7+50x =116 = 4x?+ 32x + 64

18x =180

x=10




